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£4%*& Dimension: Content
Score Description
4 The student’s response:
« reflects thorough knowledge of the given reading text
o fully addresses all parts of the prompt
o contains accurate detail(s) or evidence related to the
text
3 The student’s response:
» reflects general knowledge of the given reading text
o address all parts of the prompt
« contains mostly accurate detail(s) or evidence with
minimal errors related to the text
2 The student’s response:
« reflects limited knowledge of the given reading text
o addresses part of the prompt
e contains some accurate detail(s) or evidence with a
few errors related the text
1 The student’s response:
« reflects minimal knowledge of the given reading text
« minimally addresses part of the prompt
« contains very few accurate detail(s) or evidence with
several errors related to the text
0 The student’s response is blank, incorrect, or does not
address the prompt.

Adapted from Grade 4 Social Studies Sample Task Rubric Louisiana Department of Education
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Math Word Problems Grading Rubric

Math Word Problems Grading Rubric

Number The math number sentence is written correctly including +, -, x, +,
Sentence — signs

1 Point

Strategy The strategy used matches the problem correctly.

1 Point

Answer The answer to the math problem is correct and labeled.

1 Point

*Total points = 3 points if number sentences are applicable to the problem
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MLA & Social Science P43

Score | Description
4 Response
e Thoroughly answers the question
e Shows a clear understanding of the source text.
e Uses complete sentences with moderate level of complexity
e Is written in pinyin or the characters the are accurate enough to be fully
comprehended.
3 Response
e Generally answers the question
e Shows a general understanding of the source text
e Uses complete sentences with low level of complexity
e Is written in pinyin or the characters and are mostly accurate, with
some errors that limit understanding
2 Response
e Answers the question with limited accuracy.
e Shows limited comprehension of the source text.
e Is more than one word, but not a complete sentence
e Iswritten in pinyin and/or characters that are mostly illegible or
challenging to understand.
1 Response
e Has some connection to the question
e Shows minimal comprehension of the source text.
e Is mostly single words.
e Is written in pinyin and/or characters with minimal accuracy.
0 Response

e No response
e Response is illegible.
e Response has no connection to the source text or question.
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AR

Score | Description
4 Response:
o Uses correct operations to solve the question(s);
e |Is accurate;
e Answers in a complete sentence;
3 Response:
e Uses correct operations to solve the question(s);
e Calculation may not be correct;
e Answers in complete sentence
e Shows correct answer, and operations, but is an incomplete sentence.
2 Response:
e Shows part of (at least one step) of the operation correctly;
e Answer is not correct;
e Is answered with a complete sentence;
1 Response:
e Operation is incorrect;
e Answer is not correct;
e Is answered with a complete sentence;
0 Response:

e Shows no correct operation;
e Answer is incorrect;
e Is answered in number only, without a word production.
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Description

Score

Content Writing
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The student’

e reflects thorough knowledge
of the given reading text

e fully addresses all parts of
the prompt

e contains accurate detail (s)
or evidence related to the
text

S response:

The student’ s response:
e Demonstrates good sentence
fluency
e makes no errors in grammar
and characters

The student’ s response:

e reflects general knowledge
of the given reading text

e address all parts of the
prompt

e contains mostly accurate
detail (s) or evidence with
minimal errors related to
the text

The student’ s response:
e Demonstrates reasonable
sentence fluency
e Writer makes 1-2 errors in
grammar or characters

The student’ s response:
e reflects limited knowledge
of the given reading text
e addresses part of the prompt
e contains some accurate
detail (s) or evidence with a
few errors related the text

The student’
e Demonstrates minimal

S response:

sentence fluency.
e Writer makes 3-4 errors in
grammar and characters

The student’
e reflects minimal knowledge

of the given reading text
e minimally addresses part of

S response:

the prompt

e contains very few accurate
detail (s) or evidence with
several errors related to
the text

The student’
e Sentence fluency is
lacking
e Writer makes more than 4

S response:

errors in grammar and
characters

The student’ s response is blank,

The student’ s response is

incorrect, or does not address the | blank, incorrect, or does not
prompt. address the prompt.
Math
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) 1-3/6=3/6=1/2
6. BHEAMLLE Z. S ITFnR

H BRI 5 2

Word Problem Assessment
3 2 1 0

Answer The answer to | The answer to the The answer is The answer
the math math problem is miss or not is wrong or
problem is correct and not present not present
correct and labeled.
labeled.

Number The math The math problem is | The math The math

Sentences | problem is mostly problem is problem is
written correctly | written correctly written correctly | not written.
including including correct with missing
correct signs. signs. correct signs.

Picture The picture is The picture is drawn | The picture is No picture is
drawn but missing some drawn but does | draw.
illustrating the [ illustrating the math | not illustrate the
math problem problem correctly. math problem
correctly. correctly.

Strategy The strategies | The strategies used | The strategies The
used match the | match the math used match the | strategies
math problem problem correctly math problem used do not
correctly and but missing some correctly but match the
present part present. missing some math
correctly. parts. problem

correctly.

Explanation | The student The student The student The student

explained their
work. The
explanation is
fully correct,
and matches
the problem.

explained their
work. The
explanation is
mostly correct, and
matches the
problem.

explained their
work. The
explanation is
not fully correct,
or does not
matches the
problem.

did not
explain their
work and did
not match
the problem.
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